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1. Fill in the blanks with the words from the box. Make any change if necessary.

[ in | for | of I life | a | the | when | reap | sow |
Youth is (a) — best time of (b) — . This is the time (c) — it is most important (d) — one to remember the
maxim "As you (e) —, so shall you reap." One must sow (f) — seeds of industry truthfulness, honesty and

other virtues (g) — this season to (h) — the harvest of prosperity and happiness. Whatever takes root in (i)
— man at this time lasts throughout the rest (j)—his life and moulds his future.

a d g j
b e h
c f i

2. Fillin the blanks with suitable words.

In every walk (a) — life, discipline is a must. As soon as (b) — man loses uniformity (c) — nature at large.
his life is bound to be full of unhappiness and uneasiness. Everything in (d) — universe moves in (e) —
disciplined way. From (f) — sun down to the smallest creature everything (g) — a disciplined life. Discipline
is mostly needed (h) — early life. A child whose habits are (i) — can gain honour in every field of life. His
future will be blessed (j) — peace and happiness.

a d g j
b e h
C f i

3. Make five sentences using parts of sentences from each column of the table below.

Living being was eat the same food all over the world

Man’s first occupation depends | the search for food

People varies from place to place.

People’s food habit cannot largely on its geographical position rule climate and soil
live without food.

4. Complete the following text with right form of the verbs given in the box.

undergo flood be follow provide become
rise get die predict increase raise
The world (a)— warmer because of pollution. Every year millions of people all over the world (b) —
unnecessarily as a result of pollution. In the recent year there (c) — alarming reports that the world's climate
(d) — a significant change. All these reports (e) — strong evidence that world temperature (f) — day by day.
Climatologists (g) — that midway through the next century temperature may have (h) — as much as 4°
Celsius. This could (i) — sea levels and thereby (j) — coastal areas and farmlands.

a d g j
b e h
c f i
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5. Rewrite the following passage in the reported speech.

“Where are you going? said the merchant. “I was coming to see you.” “What do you want?” “To earn my
bread by the labour of my hands.” “Do you really want work?” said the merchant. “Yes, if you have any.”
“Then follow me and carry a box from a shop to my house.” “l do not see how | can do that,” said the youth.

6. Change the sentences according to directions.
a. Very few virtues in life are as great as sincerity. (Use comparative degree)
b. Sincerity is the root of success of all works. (Make complex sentence)
c. One can go a long way if one does anything with sincerity. (Make simple sentence)
d. Being sincere, successful people are capable of making anything easily. (compound sentence)
e. The great men are sincere because they know that sincerity is the key to success. (compound)
f. Some people do not follow the rules of sincerity. (Use passive voice)
g. They are unaware of the benefit of sincerity. (Make negative sentence) So, they lag behind.
h. If they do not know the benefit of sincerity, they cannot make good use of it. (simple sentence)
i. Insincerity should be avoided by them. (Use active voice)

j.  So we should not be insincere in our life. (Make affirmative sentence).

oo |=h | |Qa|lo |(o|w

j
7. Complete the following sentences.

(a) Scarcely had we reached the station

(b) Walk fast lest

(c) Ten years have passed since

(d) The boy talks as though

(e) is not gold.
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8. Complete the text adding suffixes, prefixes or the both with the root words given in the parenthesis.

/\

Bangladesh is an (a) (agriculture) country. Our land is (b) (main)
(c) (suit) for cultivation. Our (d) (cultivate) is mainly (e)
(depend) on rain. If there is timely rainfall, the farmers can grow enough food. But very often

(f) (timely) rainfall hampers the (g) (produce) of crops. At present there is
shortage of food in our country. (h) (normal) increase in population (i) (grow)
is not one of the reasons of this (j) (short) of food.

a d (4 i

b e h

C f i
9. Make tag questions of these statements.
a) He hardly comes here, ?
b) I'd meet you tomorrow, ?
c) Everyone has left the place, ?
d) The mother rose in her, ?
e) Let’s go on a picnic, ?

10. Fill in the blanks with suitable linking words from the list.

Students are the future leaders of a country (a) are to lead a nation. (b) they must seek
knowledge to fulfill their potential. They possess the art (c) can lead to their success story. (d)

leaders, they can decide our fates (e) they discharge their responsibilities with great efficiency, we
can reach target of perfection.

a C e
b d
11. Rewrite the following passage and punctuate where necessary.

where are you going said the merchant i was coming to see you what do you want to earn my bread by the
labour of my hands do you really want work said the merchant yes if you have any then follow me and carry
a box from a shop to my house i do not see how i can do that said the youth
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